1. 9-11, 18-22, 36-44,72- _______

2. (423  -  383  )/ (422 – (42.38) + 382)
3. A cube is made of small cubes of dimensions 3 units width, 7 units length and 8 units deep. Now how many small cubes can be saved if a hollow cube is made of same dimensions.   Ans: 138

4. Apple costs 1rs, banana costs 2rs, orange costs 4rs. A father spends 7rs to buy equal amount of fruits to his three kids. Find of the amount of fruits he bought… ans: 1 each so that each get a min of 1 fruit.

5. A hunter leaves his cabin early in the morning and walks one mile due south. Here he sees a bear and starts chasing it for one mile due east before he is able to shoot the bear. After shooting the bear, he drags it one mile due north back to his cabin where he started that morning. What color is the bear?   

6. It is the class with the seating arrangement in 4 rows and 8 columns. When the teacher says 'start' the girl who is sitting in first row and first column will say 1, then the next girl sitting behind her will say 4, the next girl sitting behind that girl will say 7, in a particular order each girl is telling a number, the following girls told 10, 13 next turn is yours what u will say?

7. .if a person moves 15km straight and turns 45km right and moves 15km straight then how much distance he needs to walk to reach starting point?
8. if a and b are mixed in 3:5 ration and b,c are mixed in 8:5 ration if the final mixture is 35 litres,find the amount of b in the final mixture
9. Two contain milk and oil of same amount. Now if one spoon of milk is taken and miked with oil. Again a spoon of mixture is mixed with milk. Now which of the following statements is true????

10. A horse chases a pony which left 3 hrs before after 5 hrs the horse cought the pony the distance travelled will be given  and the speed of horse ill be give we have to find speed of pony.   Answer 16.5km/hr.
11. Paul was 3 times as old a alice four years later presently paul is 6 times as old as alice Find alice age

12. Sum with Fibonacci series

13. if there are 30 cans out of them one is poisoned if a person tastes very little he will die within 14 hours so if there are mice to test and 24 hours, how many mices are required to find the poisoned can?
14. 6 persons standing in queue with different age group, after two years their average age will be 43 and seventh person joined with them. hence the current average age has become 45. find the age of seventh person?
15. Electrical circuit find resistance v=12v and current =426 ma  so answer is .3 resistance, based on  formula v=ir
16. 3, 22 , 7, 45, 15, ? , 3 answer is 91
17. In Tnagar many buildings were under residential category.for buildings they number as 1 to 100. For shops, corporation numbered between 150 and 200 only prime numbers. how many time 6 will appear in building numbering?
Ans:
For 1 to 10 - 1 six    2 to 20 - 1 six
Similarly upto 59 we utilise six, 5 times
from 60 to 69 (including 66) - 11 times
from 70 to 100 - 3, hence ans = 5+11+3 = 19
18. ((4x+3y)+(5x+9y))/(5x+5y) = ? as (x/2y) = 2
19. If we subract a number with y, we get 4 increase of number, once it got divided by y itself.. Find that number??
Ans: 12
20. Find the least no. which wen divide gives 2880 a perfect square   ans is 15
21. (209*144)^2 + (209*209)+(209*144)+(144*144) = ?
22. One third of a number is 3  more than one sixth of the same number  find the number
23. 3, 22 , 7, 45, 15, ? , 31

24.  6 persons standing in queue with different age group, after two years their average age will be 43 and seventh person joined with them. hence the current average age has become 45. find the age of seventh person?   Solution: Here the question appear as an easy one, but carried a lot of unwanted sentences and unwanted datas(i dint mention above) in exam which may confuse u on solving technique.

Let x be current average age of first 6 persons in queue and current age of seventh person be y.  Then 6x will become the sum of those 6 persons age.

Now, let compute the sum of those 6 persons after two years, 6x+12 (as each and individual increase their age by 2). hence its average become (6x+12)/6 = 43 (give in question itself). So now we can compute x from above equation. (x = 41, 6x = 246)

Let now we compute y, ((6x+y)/7) = 45, as we have value of x, compute y.

Ans: 69

25. Horse started to chase dog as it relieved stable two hrs ago. And horse started to ran with average speed 22km/hr, horse crossed 10 mts road and two small pounds with depth 3m, and it crossed two small street with 200 mts length. After traveling 6 hrs, 2hrs after sunset it got dog. compute the speed of dog?

Ans: As we have speed and travel time of horse, we can get distance travelled by it... Hence d = 22*6 = 132km, Exactly this 132km was travelled by dog in 8 hours (as it started two hours earlier). Hence speed of dog = 132/8 = 16.5km/hr

26. If we subract a number with y, we get 4 increase of number, once it got divided by y itself.. Find that number??

Ans: 12 (we can easily predict from options, as we take y as 6)

27. (209*144)^2 + (209*209)+(209*144)+(144*144) = ?
28. Solve the following (99*99*99 – 90*90*90)/(90*90+90*99+99*99)

a) 2495    b) -9   c) 9     d) None

Solution:   a3 - b3 = (a - b) (a2 + ab + b2)

                  (a3 - b3  ) /(a2 + ab + b2)= a - b

99 -90 = 9

29. There is a King telling a story that there are three friends Alen, Karan and Helen.

They went to a picnic for a long tour. They enjoyed well. They carried all necessaries which they want to utilize there. Here Alen age is 3 times the age of Helen 3 years ago. Helen is twice the age of Karan after 2 years. What is the present age of Alen.

30. Some animals change their color in some climatic conditions. So a scientist observed a bear for a mile from north to south. He tagged it to recognize. Then he travelled along with that from south to north. What is the color of the bear now?

a) Brown   b) white    c)   black    d)   gray

Ans: White

31. In mathematics amstrong number is generated by 0 and 1 numbers. Two friends in a class want to generate a series like prime series. They generated a series starts with 6 and 6. They got a series as 7, 13, 18…..56 they asked a friend to find the next number which will follow by 111. You are their classmate. You told them that the series is very simple.  Tell the number…
32. There are two buckets with 1 litre of water in one and 1litre of pepsi in other. One tumbler of water is mixed with pepsi in 2nd bucket. Then tumbler of mixture is taken from 2nd bucket and mixed in 1st bucket. Then which statement is true.

a) Content of pepsi in first bucket is more than the content of water in second bucket

b) Content of pepsi in first bucket is less than the content of water in second bucket.

c) No statement is correct

d) Both pepsi and water are same level.

33. A fast horse started chasing a pony after 3 hours it started from stable. Pony ran across the Texas, Canada and some other places. It crossed 3 stroms and 10 meters way 5 times. After 6 hours finally horse caught pony by the time sun sets down and moon sets up it took 4 hours for this. Horse chased with 75kmph then what is the exact speed of Pony.

Solution:   S1 * T1 = S2 * T2

                   S1= 75kmph, S2=?   T1=6hrs   T2=6+3 hrs

                   75 * 6 = S2 * 9

                     S2=50kmph

34. A person showing a picture and explaining to you: Brothers and sisters I have none. His father is my father’s son. In which way the person in picture relates to the person?

a) Son      b)  father      c) himself      d) brother

Ans:  Son

35. 2. Horse started to chase dog as it relieved stable two hrs ago. And horse started to ran with average speed 22km/hr, horse crossed 10 mts road and two small pounds with depth 3m, and it crossed two small street with 200 mts length. After traveling 6 hrs, 2hrs after sunset it got dog. compute the speed of dog?
36. which is the smallest number that is divisible by 80548 to form a perfect square?
a) 4  b) 5  c) 6  d) 8      

37. one man ordering pizza,there r 5 different varieties in the shop,namely a,b,c,d,e. you can also order your own 5 varieties other then a,b,c,d,e.The ordered one should be in a combination of 3 varieties of shop and 2 varieties of your own taste.find how much different varieties he can order?

38. One third of a number is 3  more than one sixth of the same number  find the number
39. I have 3 grandchildren.sum of elder grandson and younger grandson after 3 years  is 16(not exactly).The difference the same is 15.What is the age of the elder grand son.
40. Solve the following (99*99*99 – 90*90*90)/(90*90+90*99+99*99)

a) 2495    b) -9   c) 9     d) None

Solution:   a3 - b3 = (a - b) (a2 + ab + b2)

                  (a3 - b3  ) /(a2 + ab + b2)= a - b

99 -90 = 9.

a) Rearrange the word given below and find to which category it belongs to REPATEKE

a) Animal  b) bird  c)  reptile   d) none

Ans: Bird 

41. A person showing a picture and explaining to you: Brothers and sisters I have none. His father is my father’s son. In which way the person in picture relates to the person?

b) Son      b)  father      c) himself      d) brother

Ans:  Son

